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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any five questions.

All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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&)/ What are the basic problems of an economy? Why (g
these problems arise?
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(a) How does a tax on a good affect the price paid
by the buyers, the price received by the sellers,
and the quantity sold?
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(b) Discuss the following concepts :—
(i) Consumer surplus,

(ii) Producer surplus.
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What is the price elasticity of demand? Given the
demand function Qx = 8000 — 1000Px, determine the
elasticity of demand at a single point, where the price
is Rs. 6 and the corresponding quantity is 2000 units.
(Diagram is required)
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4, What is the indifference curve? Explain the main
properties of indifference curve?
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Explain the price effect, income effect and substitution

effect of a price change for a normal commodity using
suitable diagram.
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(a) Define Total fixed cost, Total variable cost,
Average cost and Marginal cost.

(b) Total cost and output schedule are as given in the
following table ;-

Output | 0 1 5 10 12 15 20

Total 300 305 385 602 756 1005 | 1540
cost

Find:- Total fixed cost, Total variable cost,
Average cost and Marginal cost.
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7. Explain the law of diminishing returns of a factor.
Illustrate this concept with the help of graph.
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8. (a) In the long run equilibrium of a competitive
firm, show with the help of a sketch that
LAC=LMC = AR =MR

(b) Derive the short run supply curve of a firm under
perfectly competitive market.
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